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In Aronson-Mednis 1953 Black’s active king looks certain to win White’s f pawn.  White tried 1 h4 but after 1...h5 White was lost.  Can you find White’s unusual drawing line (3 moves)?
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  After Veselin Topolov’s convincing victory in the FIDE World Championship Tournament in San Luis, Agentina, debate has been raging about a possible match between Topalov and Vladimir Kramnik who defeated Gary Kasparov in 2000 to gain almost universal recognition as ‘Classic’ World Champion (part of the tradition of champions winning and defending their titles in match play).  Despite Kramnik’s refusal to take part in the St Luis event there seems to be a strong majority of the chess public in favour of Topolov meeting Kramnik in a reunification match. Although Topolov inferred he saw no reason for a match, pointing out his considerably higher rating (+60), the two players’managers have been seen in consultations.

  And now a final look at games from San Luis, a game Topalov had to show superb defensive skill to gain a draw:



     MICHAEL  ADAMS  -  VESELIN  TOPALOV



              2005 World Championship, Round 11



           Sicilian Defence, Scheveningen Variation



 1    e4  
c5  


 2    Nf3  
d6



 3    d4  
cxd 


 4    Nxd4 
Nf6



 5    Nc3  
a6 


 6    Be2 
e6



 7    0-0  
Be7 


 8    a4  
Nc6



 9    Be3  
0-0 


10   f4  
Qc7



11   Kh1 
Re8 


12   Bf3  
Bf8(a)



13   Nb3  
b6 


14   e5! 
dxe



15   fxe 
Nd7 


16   Bxc6 
Qxc6



17   Nd4 
Qb7(b)


18   Qh5  
g6



19   Qh4 
Nxe5 


20   Ne4 
Be7



21   Ng5
Bxg5 


22   Bxg5 
f5



23   Rae1 
Qd5!(c)

24   Ne2!(d) 
Nf7(e)



25   Nf4 
Qc6 


26   Nh5! 
Nxg5!(f) 



27   Nf6+ 
Kf7 


28   Nxe8 
Bb7



29   Nd6+ 
Qxd6 


30   Qxg5 
Rc8



31   Rf2 
Rc4 


32   Qh6 
Kg8



33   Rd2 
Bd5 


34   b3  
Rc3



35   Qh4 
Qc5


36   Rxe6(g)
Bxe6



37   Qf6  
Bd5 


38   Qd8+ 
Kg7



39   Rxd5  
Qf2 


40   Rd7+ 
Kh6



41   Qf8+ 
Kg5 


42   Qe7+ 
Kf4



43   Qd6+(h)
DRAW

a) It seems more logical to develop by 12...Bd7 rather than undevelop but after 13 Nb3, b6  14 g4 forces 14...Bc8 to provide a retreat for the f6 knight.

b) White has a significant lead in development making Black’s game difficult to defend. He is forced to weaken the black squares around his king and then give up his important defensive bishop. White now avoids the tempting 18 Rxf7!? Kxf7  19 Qh5+, Kg8  20 Qxe8, Qxg2+!!  21 Kxg2, Bb7+  22...Rxe8 with advantage to Black. 

c) 23...Nf7 has been played and found wanting – 24 Nxf5! gxf5  25 Bf6, Nh8  26 Rxf5, Ng6  27 Rg5, Qf7  28 Rxg6+! Qxg6  29 Re3 winning.d) 

d) Instead of the obvious 24 c4 Adams brings the knight into the attack.

e) 24...Bb7 may be better: if 25 Nf4, Qc5  26 Rxe5! Qxe5  27 Bf6, Qe3  28 Qh6, Bxg2+!  29 Kxg2, Ra7  30 Rf3, Qd2+  31 Rf2=. 

f) Rather than risk 26...gxh5  27 Bf6 Black diminishes White’s attack by giving up the exchange. 

g) Adams makes a final effort to revive his attack.

h) If 43 h4 to give the king an escape and threaten Qg5+, 43...Rh3+! gains a perpetual.

SOLUTION:  1 g5, h5  2 Kg3, Ke3  3 Kh4! Kxf4 stalemate:  if 3...Ke4 4 Kg3=.  By coincidence an identical position (except that the pieces were all one file further up the board) occured over 50 years earlier between Tchigorin and Tarrasch.  In neither case did White find the draw.

